RASHAIT T B R R

i1

H.14(2002)4F % ~ R.06(2024)FEFE  F/KE JHAE-FHE iz

r

FEEAE

eSS

EBNE

THHA

THIE

TIUA
BB

Te R U e

%ﬁfﬂj‘z%ﬁi/ﬁi@?*ﬁ%ﬁ%ﬁf IR X BV ERCE RS
7t

FFWER Y EF (757K A=146.7Tha- N 7K A=85.0ha) 13, 2 FH%h
%)ﬁﬂﬁ(%%ﬂ?ﬁﬁ) (RR7ZKA=167.6ha) 12, it tH AT E7 L (it HY
) A=167.6ha

H19.07.05

H20.02.19

3000-806099

INCT RSN

B DI E 2 1B X /K FE S RS

Ve AT E T L (FiH ) A=31.35ha

H21.12.03

H23.03.31

4003157808

NSRS

Tl Hi1 X 7K FEa i e Ot #5 22 — 1

i (KD &) A=2ha, KA (BXr- 77y 77—k~
LR — VR Y1 G AT T L (W H ) A=159ha, <> R—
NIERIR L 75 T H)N=1fr. STy baEfiaRer 1.4
FROREVE SR N=2,5 BB 1.=9.60km. H5i.Hh &

H23.03.11

H24.03.30

4007681613

UNCT RISV

RINEA 4 - XF AGE FEfti i 7 126526 — 11

et T35 (oK O £8) L=138m, #ExtE Ty (U 0 -/ 0 £8) L=57m., B
Y T (AR 1200mmA) L=791m. & B A T35 L=27m. [k~
VA=V N=1fEAT Rk~ d— L OB - 8 5)) N=1 & Ft, <>
A= VIR 75 (2S5 N=1 (& I, 4 B 56 a2 1 A ik 5
Levl-2 13X, FppptsdmmbZEe st 100 HAETE 7 v (it
) A=11ha. AW, FUE SRR N=23 4 B&&MHIE 1.=0.65km. F7 Hh

H26.11.04

H28.03.25

4021219547

INCT RISV

R X R KB S i R T35 26 — 13

A5 (AR D) A=182ha. 3 — VR T3k ((E BV PIR5000mm A
T) L=3480m. Fiik~ > m—/b N=28FT1. ik~ m—L (R
FE5- 181 55 ) N=14 18 it i TV D Helse it (i 2838 A5 4T) N=11% T
BT R FLevl -2 1 B S i R ot 1 i
b7 L (i HH ) A=182ha, AR YE A N=4 s, BERH &
1.=1.08km. B HHIE  A=0.032km2

H27.01.23

H28.03.25

4022019529

JR TR AGE R

FHEIED 2 X 7K FE g 5 2E#% 30— 56

— LR T3 ( EVAREE5000mmEL ) L=1077m, HEdE T35 (Fh ok
F£8) L=346m. #E1HE Ty (I 0 -/ A£8) L=124m, BIHI T
(1200mmA3) L=33m. K5k~ h—/L N=2f% 7. ik~ m—
IV UNRBL- 8 5)) N=175 T, = o — VB ROR 785 (2uk L) 1
At TIEZE D Pelg iR et (fLE BRI N=1 68 7T, & S - Rk 15
MiER et Levl-2 12 AR 7R (R 7 5l e« 13 7 B AR
i) Q=0.09m3/sec. Vi H AT =7 /L (i H S A=27Tha. B3 Hh Al

H30.11.09

R02.02.28

4035638705

JR I TR AGE R

B X R KOE FE MR R 38830 — 55

— LR T3 (H EVANEE5000mmEL ) L=3541m, e T35 (Fp ok
A28 L=277m (F [ -/~ O £8) L=144m, BA#I T 1 (P& 1200mmAs
Ti) L=45m (FRIFT-BAZ 1) L=10m., ¥k~ o A — /L N=5 & FIr (/N
FL- 15 5 ) N=121% 7T i TyE% oo brisei it (Zuh#i) N=1 i (i
FEWT) N=2f& AT, — R TTFEMFRAT 15X, & B - K W i s ik &
Levl-2 1 AR 75 (R 7550, 5 25 8 - BRAE - 2 7 B AL il 48
i) Q=0.78m3/sec. Vi H AT =7 /L A=353ha. #& LI &

H30.10.19

R02.03.31

4035356691

JREsTfE R X

J\ G i R K tE HH AT 2 DL S 3 — 3

BT (R AA=10ha YK XD ET /L{LA=10ha- H15Z 15 D
E7 U{LA=34ha-Fr V7L — a3 20 X 3fE - Il —3 g
v (B hax ORESTREAM) 2/ X 17— AA=34ha- 32— a3
el 55 i O h B 20 2[R X 447 — AA=34ha- 2 FHZ2h S5 0T
A=34ha-fEHBEEOVERA=34ha- WhiE 13E6H) AKRGrERI(120H

R03.06.16

R04.03.31

4045197724

1/2




RASHAIT T B R R

H.14(2002)4FE ~ R.06(2020)4ERFE  F/KIE

AL FHIE T

AT

FEEAE

eSS

EBNE

THHA

THIE

TIUA
B

JS o WP D T

R 1 DX KR SR A -

e G

MK EFE OS2 (5t B iAT) A=15.9ha. Ao 7 5 (EMIER EF)
7 (AR - B R) Q=0.36m3/sec. iz (FN/AK D)
A=15.9ha. BAHI T3 (N 1200mmRTi) L=354m. BRI T3E (R
AH NS —h-BIE X[ BBFTH]) L=135m. & B sk it B s i Levl
120, B HE K &3 (R 5 e) L=4188m. R BM% &l &

R04.01.28

R05.07.31

4047747024

INCT RSN

FHFEHIX TKE

S A —2

S—)LR T (f: EVAE5000mmBL ) L=2498m, HExE T3 (K
M42) L=231m (KN 1 /O £R) L=102m. Fiik <> 7 — L N=2 % Ft
UNBURE-F8 5)) N=T14 FIr, i 952 0 el it (I EEis ) N=1
AT I B S B R B Levl -2 12, i HARHT (2B X
27— A) A=223ha. $E#5 B M Ot T35 o Fefe gt GarJ 1A 1)
N=2& ) 120, HEK AR 7 Tk i1 Q=0.087m3/sec, 4k F 7 S &
N=492 5 BEELHIE 1 =2 49km_ FR#HIEA=0_0725km?

R04.10.14

R06.03.29

4050455297

UNCT RISV

RN PR AT RS HE B

TR AT R AEA=533ha- 33 ol —aL (B TR O RE /13
fili) A=533ha-$&H X ED/EAMA=533ha ik 13£755) 15U

R06.08.05

R07.03.31

4056763261

2/2




